Air flows steadily through a supersonic nozzle. The
entering air has negligible velocity. If the exiting air has a 4 [

Example

velocity of 467 m/s, find the exit temperature. Assume air
is an ideal gas with variable specific heats. j_’
—

l S~

(

200 kPa

600 K CE i 100 kPa
=0 V'=467m/s
T=7?

o oy AL =

i A= I :
® / 2

C onsery & tion / enery

f’ ot Tt Degin

2

A

2y (HAVE USED
CONS. o MASS

O = mih L (o

= RESOLLT
ﬁ = % = Vz’ - “ S e
z 1 B ml—'m?_’n’)>
ﬁ; A4 (T,)= o0F.02 Flleg
%L = (07.02 KT _ ”“72/‘ /K/‘3>
kg 2 1060.3"

|

498 .3 \5-3/\:3

SINCE IDEAL GAS DIDN'T NEED THE PRE SSURES!



